— MR FENBARTYMR—IL) =

AR

JFL:

B#FE7vhR—ILU—2

F26E AXRTYIR—ILY—T F298

B B 20245 11H16E(1) 13:00[HAHH 05 | 25% HRORI—LFELNE, TR
E ] | S 5B i190°C | B £ i61% | R 5 EvFE)IZERE | WBGT | — —
TyFaAIviaF—ifAK B  E HE B Bl B 2 %5 Bhid EEEe it H M BEHR
BHT7 v — LR FE Bl E| 1K BE saomual/M K R AR LB FI 1,208 A
B : 2225 B& - 2202 \
(R—LF—L) 2 B 0 (ELE—F—L)
YITIUHE 2 0 | & = ] 1 SRARFPIYIFC
KICK OFF
R va—t # . B || & . 5 a—k TR
NoTOUTHTH R RFA 5|&|&|% RFA A Tw & oUTET No
0 R B 27| GK| GK| 21| XA B LR 0
0 Bk &= (Cap.) 8| DF|DF| 5|fiAK 2 1 1
1 1 K #h 15| DF| DF | 15|#% mX 0
0 TN ERAER 16| DF| DF | 22|XJIl HE 0
0 HE R 4|MF|DF| 27|(E& B 1 1
0 BH EX 5|MFIMF| 8|#& iFth 0
8445y 0 =g Rt 13| MFIMF| 9| Xk Imim 0 184>
125 0 hme RE 17| MF|MF| 13|&J& X401 (Cap.) 20 11
6145 0 Rl REE 21| MF|MF| 23[880 BX 1 1 639
125y 2| 2| 1|KbfEX 31|MF|FW| 24|52 £t 0 HT
8445y 15 1] 2| 1|5k f 18| FW| Fw| 25| X3F &3} 1| 4 2 2
EfEE 41| ck|ck| 1[BR Bt
31 0 #8)1| Fosst 2|MF|DF| 2|H B FE
21 0 EHEA 14 MF| DF| 3[/NEF 48
13 0 EXi b 37|MF|MF| 6|%% X
SH EL 44| MFIMF| 11|#2H ZE&k 1 1 24
18 0 INh fEE 3| FW|Fw| 18|85K BEor 0 23
17 0 185 & 33| FW| FW| 26 (@3 £ 0 9
&5 -R5 BEE BEE & -Bi5
JLie FER B EE 45+153| 2 | 211RA LR RAK =Y
B U ssanw %
2 3] 5/>a—r| 10 6 4
8 2| 10/ GK 6/ 1. 5
11 1] 2] ok [10] 70 3
3 8| 11| EEFK| 12| 8 4
0i 1| 1|REEFK| 2| 2i 0
0 1| 1@ 1 1i 0
0 1] 1| PK o 0 0
FREHE| $R5F—L [ No. B"RE BERA LA ~FUJ)IL —-TanR T:BEEHR/R xR S:a—k HATAVY
409y [TV EiE| 31K EX 1-0 | z=-1 @K 21 1 hk-1! 31 HS
45+253 |0 )TV FTE| 18 B5HE FOis 2-0 | hk-1i PK 18 | BARS
804> |[zx~7zvzrc| 25 KIF 23} 2-1 a2 8 - -1 15 . 25 ~ hd-1i £ES
[ &A1 BT$49:19(04:19) . #49:21(04:21), HREFTERRT 01:52:54
]

X (FTHAR) DWIZ(E, FEFKDSS, BFF—LDATHARIZLDHE. RTRLTVET,




